Lo With  yeference 1o e faliltyn
Aladterny Award, 2029, connjder the

fOMawing: winteinents
() Dipak Ko Shirmp won the

awand for Dis Sanglepg poetry
colleetion }rh.'.l_r.;l.-“",,.mrmn].

(1) Bhasharacaritom chronjeles the
characteristics of (], anclent
Kt Bhaskoaravarmag,,

Which of the above is/fore correct?

{j_\j (i) is correct by (ii) is noty
correct
(B) (i) is not correct but (i) is

< correct
(C} Both (i) and (ii) are correct ~

P
['D} Both (i) and (ii) are incorrect &

}r With reference to Assam Govern-
ment’s Civilian Awards, which of the

following pairs are correctly

matched?

(i) Rana Pratap Kalita—Assam
Gaurav

(i) Ratan Tata—Assam Baibhav

(iii) Dwipen Baruah—Assam Saurav

Choose the correct option.
(A) Only (i) and (ii)
AB)  Only (ii) and (iii)

(C} Only (i) and (iii)

(D) (i), (ii) and (iii)
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(i) Samﬂf;,‘;d in Women ¥ #ee
ﬂi-‘:! - - R,
world CUP BREs =
e for= i
bove ESfE5%
Which of the 257 ’ ..o
rect ut (51 5= 7

i oniy 02

e A5

correct A
fB)-only @ i correct but @ = =
correct
g (¥) aTe o575

(C) Both (i) 2
Both (i) and (if) are =00

———

(D)
Jowt: fFom
Who among the follewmg 9=
1 ol - —_——— T
Assam was selected as =% &8 =
;eﬁﬂ'

the Indian Women Football i
to play against Sweden I 20237

(A) Bhagyabati Kachari
(B) Pwilao Basumatary -
(C}) Apurna Narzary

(D) Ashmita Chaliha

Uma Chetry from Assam represents
India in which sport?
(A) Cricket
4B} Hockey
w{C) Basketball -

(D) Baseball




Which

Uh'rnrlir::: the following in not an B. With reference to Hational m-ﬁﬂ'r
h from Assam? atructure Pipeline (M1, consid®
(A) Dipankar Bhnttachnryﬂf the following :
(B) Lovy ) (i) The MIP scrves as a cnntra?i:'ﬁd
Ina Borgohain platforrn for hosting projects
(C) Shiva of States, Union Territorics
Thapa and Central Ministries to
(D) Mirabaj facilitate their monitoring and
abai Chanur reviev.
(i) These projects are tracked and
- With e, th . reviewed througl:l ﬂ'}e National
_ Andolan’, consider the gortal.
following statements :
(i} It aims at mega-plantation of Which of the above is/are correct?

Commercially valuable saplings (A) Both (i) and (ii) are correct
across the State.

.. (B) Both (i) and (ii) are incorrect
(i) It aims to increase trees outside
the forest areas to boost the {C) (i) is correct but (ii) is incorrect
State’s green economy and

(D) (i) is incorrect but (ii) is correct
agro-forestry sector,

(i) Under the health department 9. Sovereign Green Bonds are
patients with chronic illness are /
the primary beneficiary in this (A) debt instruments to raise funds
programme. for anironmentally sustainab}e
projects 7
Which of the above isfare correct? (B) fiscal instruments to raise
funds for environmentally
“(A) Only (i) and (ii) sustainable projects .
(C) revenue instruments to raise
(B) Only (ii) and (iii) funds for environmentally °
sustainable projects ‘
(C) Only (i) and (iii) [D/t special provision to raise funds
for environmentally sustainable
(D) (i), (ii) and (iii) projects

[ P.T.O.
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Histainabine Wetloid and tateprated all the jopment status
m o
Fishewion Tyaaatormation (1w ) their 4% =
P s st s arity Pl
. are ) i
(A) Lovtormitionnd Uiy far ”“ Ihess S i be achicyed
Conmervation of Nature ””(:”l f_r;r."imlfmdmd' countries e Fich
fr i . i
[ ] f.ifllf J t_hes):‘ gqa‘s and
(M Hecretariat of the Convenjon of lack 17
the Wetlondn lace
indicators

(C) Green Tribunals of [y, (NCIT)
ra[ja‘.&'fﬂg :

{,3- Consider the
FEnown for

(1) Aninn Hr'vr'lnplm'.nl Hanl.
Sileesy
Wild Water Bufizlo

M. Which of the lollowing iy not an (i) Borjuli

7’ mdicator  of Iumnan Development
Indlex (LD i) Hajong Lake

Primate Species

. Tortoise
AN)  Life expectancy at bir (iii) Bherjan
i I Which of the above is correctly
Bl Mean nnd expected .
I Yo of matched?

schooling - ]
(C) Extent of inequality of income - (A) Only (i)
(D) Per enpitn income . (B) Only (ii)

(C) Only (iii)

127 Which of the following is true for the (D) None of the above

Sustainable Development  Goals

(SDGs)?
14. Which of the following festivals is

(A) These are common global not related to harvesting?

to be achieved

commilments .
only by the developing (A) Sogra Misawa
countries (B) Hangseu Busu

(B} These are common global (C] Sikpui Ruoi

commitments to be achieved

only by the developed countries (D) Chomangkan

EJ/DPW/1/25/4/45-B




16. l-'Tmml'rIr-r

: the  following
"'E|||V“1“ 14

paira of
tapether  with Uy

Whie), 68/ 01e correctly ]"'lrr-cl;:“hn“-
}‘."'-fum! Tribye
(0 E“l"‘lt'lm'wm Dirnags,
(ii) Ronpcor Tai Khamti

() Py

(A)

Sanpken - Tai Phake .
Only (1)
(13) Only (ii)
(C)

AD)

Only (iij)

Only (i) and (i)

16. Which qf the following statements

are correcrp

(i) Unakoti is an archaeological
Site located in Goalpara.

(i)  Unakoti is known for the styles
of rock-cut sculptures,

(iii) Unakoti sculptures represent
Stone artwork of Pala style of
10th-11th century.

Choose the correct option.
(A) Only (i) and (i)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) (i), (i) and (i)

/14. Who wrote the second Assamese
novel, Sudharmar Upakhyan?

{A) Padmavati Devi Phukanani
(B) Chandraprava Saikiani «
JC) Swarnalata Baruah

(D) Nalinibala Devi ¢

EJ/DPW/1/25/4/45-B 5

P
T, (o]
Patn.Chitea ja the famous art fors

which State of India?
(A) West Bengal #
(B) Chhatrisgarh °
(C) Odisha /

(D) Jharkhand

Find the next number in the series :

N7, 13,91, ___ ?

(4) 29 s
X

(B) 30 L
) ¥31
(D) 32

In a family of six members P, Q, R,
S, T and U, there are two married
couples. P is a teacher and the
father of R. U is the grandfather of R
and is a lawver. Q is the mother of
R. S is the grandmother of R, T is

the brother of R. How is T related
to U?

(A) Son
(B) Daughter
(C) Son-in-law

LD) Grandson

[ P.T.O.




21w
- rﬁ:‘“ amonyg the following writers
M Assam is not n recipient ©

]
YRanpeetly Award?

(A Birendra Kumar Bhattacharya
(B)  Mamonj Raisom Goswami~
(C)  Sourav Kumar Chaliha -

,(F’I Nilmani Phookan

227 The last of the India’s Five-Year
Plans was the

(A)  11th Five-Year Plan
{B) 12th Five-Year Plan -
(C) 13th Five-Year Plan

(D) 14th Five-Year Plan

Which of the following films is not

23.
directed by Bhabendra Nath Saikia?

(A) Agnisnan

Ji})f Sarothi

(C) Sandhya Raag
(D) Halodhia Soraiye Baodhan Khai ¥

Consider the following :

Adam White’s Report on Assam

David Scott’s Agreement with
the Khamties

Francis

24,
(i)
(ii)

Jenkin's

(iii) Captain
Report on Assam

T. C. Robertson’s Treaty of

(iv)
Guwahati

_ EJ/DPW/1/25/4/45-B

26. .
7 undernourishme

he r.
ArrnniBe orde
{.:hrlum'imH

l‘i.‘l-l'ii}-‘{“”"‘w’

(A) L _(iv)
(B) ﬁﬂ«ri-'”“"’ y

a polish professional
' oociated with which

25.

the correct word for

out
nt.

Find

Malnutritiont

AA)
(B) Mulnutrition
(D) Mulnutrision .

27. Who among the following Indians is
not a recipient of Nobel Prize?

(A) Rabindranath Tagore

B) Abhijit Banerjee
(C)] Amartya Sen
(D) C. N. R. Rao
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tonier of the hilgdie gy chslinn
il RRICH Fhie Paelesit
Bhtisting, hina been awatden v, wiieh
PETSONNlity rrom Aasarn for Finfher
c.-mmihmi:,,. in the ficld of nrty

(n)

NWiEe) g

.
Tankeswar Hazarika Bornyan

(B) Indirn p, g, Born

(€} Jatin Goswami-

(D) Sarodi Saikia
Cairn  oj and Gas has recently
received the clearance for el

exploration in the ceosansitive zone
of

(A)  Dibru
Park

Saikhowa MNational

(B)  Hollongapar Gibbon Sanctuary,

(C) Raimona National Park »

o

Laokhowa Wildlife Sanctuary ~

The first nuclear power project in
North India has been announced to
be launched in which State?

(A) Haryana .

(B) Uttar Pradesh-

(C) Rajasthan"}

.

/)

ars s

. 4% Sirh i
Tria € rciesrs (Tl A Fs.

2
il o s s AL

A L AT
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L P el g

Vrasinags frwiipaton Misttid =
Metiris pwen, Tow [t
(55} Sarnidinmn Catan

() Waxstrmpati irawas

(1) Varimrys Petes

3;-/ The Migiatrpof Furz! [mrraierrerne=

3}/.

Vizs infegrated wiies of e Lie0TE

- -
int;,  the Urien —Gorernmress®
Misziom Arasft Caroves?

A)  Jz) Jeevan Miszion
(f8) “Biver Developrnert Orgprimatioon *
(C) Gangz Prjuvenzticm Srfecne

(D) Indizn Pazilwzys

Shaheed Diwas zlso known z=
Martyre’ Day iz oheerved svery yezr
on March 232 to honour the szerifs

of which of the India's gresz
revolutinnaries?

(A) Lala Lajpat Rai znd Udhzm
Singh

(B) Bhagat Singh, Shivaram
Rajguru and Sukhdev Thapar

(C) Bagha Jatin and Bipin Chandra
Pal

(D) Rani Laxmi Bai

[ P.T.O.




na,

an,

O ——

LT
Wivgyy TGl

Vi Wobeg g Al e t
lliHll

"V1|||

YNer  pnd the

O NT dinipinhy pAwenied

W thig, Vissdle  freon

h -'“n],.',l

Y RITTTY Peselenly
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() My, Provlesh
(1) Chbnttiagney
The leativial §ye

Il In Decerher 2024
GV “elebrate  the
riecy, by hieyitopees oo djyersity

LTI Y

of e Horth - fannters, Maten  wan
Corllese|

(A) Auhitaratnn nhisoy

pij Anhitalalentimi Mahot sy

(C) Seven Sinters Feutiva)

(D) Ashtamani Manelap

The Lucknow Pact, seen oy o beacon
of hope for Hindu-Muslim unity, was
sipned in 1916 betwenn

(A) Mahatma  Gandhi and  Apa
Khan

(B) Bal  Gangadhar Tilalk and
Muhammad Ali Jinnah

J{C} Mahatma Gandhi and
Muhammad Ali Jinnah

(D) Bal Gangadhar Tilak and Apa

Khan

/’}/ fAnteh) the fellersiing

1. Juliinnamls 19

!A"ﬁg"!.f':

2, Dands 1pareh 3

. 14 fard
t GanethicAesn T

4, tywaraj Farty

.t -4

l -fh 2_(1 ’

M)
(52)

)

(D)

Jep, 2-d, =% 4-b ¥

f=gz *

1-b, 2-¢,

4=

l"'-b.l 2—-‘8,

/a‘é. Match the following :
1. Khilafat Movernent

2. Non-Cooperation
Movernent

3. Chauri Chaura
Incident

4. 2nd Round Table
Conference

M 1-b,

(B)

2-c,

I"'d: 2—c, 3—3., 4-hb

(€) 1-b, 2-a, 3¢, 44

2-d, 3—,

d-a.

a. 1931

b. 1919

c. 1920

d. 1922

3—d, 4—a__h
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40. Who AMmong the following succeeded

-

bmmulmgupm as the next ruler of
Gupta dynasty?

() Chandragupta 1l
(8) Chandragupta 1
(€)  Vishnugupta

(D)  Mahendragupta

41. The Dual Government System in
India was introduced by whom?

(A) Warren Hastings

p(B] Robert Clive

(C) Lord Cornwallis ,

(D) Lord Wellesley
-

EJ/DPW/1/25/4/45-B

(he "l'“l

» ol Tl
A2, What in the prin it cai (he I““'
) eanant llluirlIIIH L
e Annam?
(A) Diattle of Htakhull
A Phulaguart Dhawa
(C) Patharughnt Ra{jmel
(D) Battle of Sarnighat
wans

43.” Who among the following o
installed as the king of Ah )
Kingdom by the Burmese I[nvader:
in 18217
(A) Badan Chandra Borphukan
(B) Sudangpha
C) Purandar Singha .

,{D} Jogeswar Singha

44. Which of the following individuals
/ along with Dhananjay Buragohain
and Jeuram Medhi raised a revolt
against the British occupation of
Assam?
(A) Maniram Dewan
(B) Piyoli Phukan,-

(C) Gomadhar Konwar

(D) Kushal Konwar .~

[ P.T.O.




g. /The tropical WO CVETBreen forey
4/1 p]'{:{lolniﬂﬂnt]y found in whic,

45, wy
1
lt*m;: AUMong the following Assnmese s
rs , H
Coriaiis Was o member of the the following?
the | HENt Assembly for Drafting
Ndinn Constitution? () Kazirang® National Park
(A . .
) Gopinatn Bordoloj ) Dihing patkai WLS &
(B
) Tarun Ram Phukan v (C) Nameri National Park
(€)  Nab;
abin Chandrg Bordoloj «
> (D) Pobitora WLS
(D) Bimala Prasad Chalijhq «
ST Surya Pahar located in the 49. In which of the fo]lowmg‘ places in
e iron ore deposits found?

district of Goalpara is famous for Assam ar

(A)  old sun Temple ~ (A Chandardinga Hills

(B) archaeological remains (B) Subankhata

(C)  organic cultivation of banana (C) Silbheta

(D) local handicrafts (D) Hahim

-
il ®

?7-/ The Dhola-Sadiya bridge known as
Dr. Bhupen Hazarika Setu is 50. Swamp Deer
constructed over which of the population in which of the following

following tributaries of the river protected areas in Assam?

has a sizable

Brahmaputra?
(A) Nameri NP

(A) Subansiri
(B) Pobitora WLST

(B) Lohit_
(C) Kaziranga NP
(C) Dihing
(D) Garampanj WLS
(D) Dibang
EJ/DFW/1/25/4/45-B 10
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Who ¢

i M be appointed 4 ad hoce

vARdRes  of the 9 ™

India? ¢ Supreme Court fn

A) Inly -

( K‘fﬂ} tired  Judgeg of the
SUpreme Court of Indig

B .

{:'I Only those qualifieq for
APPointment as Judges of the
i
bllpmnxt\ Court in lndiﬂ. .

() Of—ll}- retired Judges of the
High Courts

(D)

Judgesg of the Special Courts

If the Strength of ‘a House is 520
and 20 members are abstaining, and
a Bill is voteq in favour by 251, this
will be an example of

Bill

(A) passed by simple

s s,
majority

(B) Bill passed by effective
majority

(C) Bill passed by absolute
majority

(D) Bill passed by relative
majority

EJ/DPW/1/25/4/45-B

g;ii

54.

the
doge Wi
e ecutiv®
ment

Who among the follow
Vice  President of the
Council in the lmcrim_ Go
of India during the period

vern
I(JJ()"“T

(A} Motilal Nehru -

(B} Jawaharlal Nehru

(C) Sardar vallavbhai Patel’
(®) C. Rajagopalachari *

Which of the following matters can
be taken up in Lok Adalats?

() Land Acquisition Cases~
(ii)
(i)
(iv)

Non-compoundable Offences™
Electricity Matters
Housing Finance Cases

Choose the correct option.

(A) Only (i) and (i)
(B) Only (ii) and (i)
(C) Only (i), (i) and (iii)
(D) Only (i), (iii) and (iv)

Who determines the conditions of
service of the Chairman and other

members of the Union Public Service
Commission?

(A) The Parliament

(B) The Council of Ministers
(C} The Prime Minister

D) The President

[ P.T.O.
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I oof the following petions ca,

b N way, 1
S Quassder the fallowing  statements SR Wha v the  Ragyn Sably
Attt the Natronal Human Rights be  loken ney Dty
N
LRENRanan (NHRVL Liwdia vepanding Mo
LR Toix sgatuten Bty Iiddia 0 libia il
extabliahad o 12 October, (\) It can pmend ith
AR
» W 3 v . ’I
G2 It was estabhshed w condiovmmity () 1t ean reject the Bl
with the Parns Prineaiples
SYBheR A he fost inter (€)1t can withhold the Bill for 19
i \\\"'.!?.rihup on nationat daya to make rt'{.‘(‘l'llllnt't‘lﬂﬂli:ﬂn!l
maitutens o promotion and :
pretectron of human rishits held '
2 . - nr(l tn
m Pans in October 1001, (D) It has no power with reg
Pl . oy [l
iz The Chatrman of the Mency

Commission must alwavs be a

=inng Judse of the Supreme
Court. 59. Who jis the current President of the

Y The NHRC has . Badminton Authority of India (BAI)?
quivalent to those of a Civil

Court. (A) Dr. Himanta Biswa Sarma
Which of the above statements is/
ass cormeer? (B) Prakash Padukone
A Onlv (1)

(B) Onlv (i) and (ii) (€) P. Gopichand/
(€] O=znly (I and (i)
i a
57. Whar is the composition of the
/ lzctoral College for the election of G/G‘_/-Who is the author of Assamese : Its
the Vice President of India? Formation and Deuefapment, a
scientific treaty on the history of

(A) Elected Members of Lower
- Assamese Language?

House, Upper House and State
Legislative Assemblies

(B) Elected Members of the Lower
House and the Upper House

(A) Dr. Maheswar Neog

(C) Elected Members of the Lower [Bf Dr. Banikanta Kakati

House and State Legislative
Assemblies (C} Dr. Birinchi Kumar Barua

(D) Elected Members of the Upper

House only ) (D) Dr. Prafulla Dutta Goswami

EJ/DPW/1/25/4/45-B 12
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63.

Who Moy,

Bothe (ollow,,
WO 1y,

s not o
xer fiom ﬂllmu

ny ¢

061,

A .‘\l‘l'lulnh“" Bor »

(13)

I,n\‘vlinu Borpohining

(©)

Jamung nore

(D) Uy, Chhetry

}V_hﬂt is the meaning of (e Englinh 59‘
tdiom 'salt of the carth™p '

(A) Someone who is wenlthy

(B) Someone who is

Ecnuine, pood
and honest

AC)

Someone who is always busy

(D) Someone who is mysterious

Which of the following is not trye
regarding the India’s first indigenous
and Greenfield semiconductor
assembly and test facility factory
proposed at Jagiroad?

66.

(A) It is a part of India's Semi-

conductor Policy
(B} It is supported by India’s Semi-
conductor Mission

(C) It is supported by Assam's
Electronic Policy
(D) It is approved by the Assam

State Cabinet in February 2024

13

B

ccd ¢
In
Which, of the following pmmcﬁ?
Annamn does not hnve con

(A) Dl Jeypote

M) Makum

(C) Went Daranppiri

(D) Hamren-

Fill up the blankns in the following

v i g :
gsentenee with the correct aption
Il we are late we will nimply __1—1-;-
any nseat that is available t
one behind the driver.

(p} expect, except

(B) accept, except

(C) except, expect

(D) accept, expect

Which of the following is not the
main objective of the Mukhya Mantrir
Nijut Moina Achoni?

(9.{ To increase the enrolment of
girls in primary schools,

(B) To increase the enrolment of
girls beyond matriculation

(C} To reduce dropout among the
girls in colleges .

(D) To prevent the social evil of

child marriage /

[ P.T.O.
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JUC petrechemicals
) solar eneny <

The Assam Cooperative Apex Rank
plavs a crucial mole in supportin®?
pnmanly  which  sector of  the
eCononw’?

(A) Agriculnure <

(B) Information Technology
JC) Tourism ¢

{D) Heavy Industries

The Union Cabinet.in 2025 approved
establishment of a Brownfield
Project at the Namrup Fertilizer
Complex to produce

(A) petroleum products
(B) thermal power
i) fertilizer
R (D] textile and polymer products

14

FLT

Al

T

/'72.

Nty T l‘h"'“ll'ﬂl!h, A Than
i

b “““ p AN the ihﬂlﬂhtf‘! Iy
I-I' V :

] anly  Aan v ja the

ol
LR

pontudinthed '
gl i the }"“‘"“"
an

aply velated to the

(M) Maother y

(m At

() Sisted

AD) Cousin

Match the following @

1. Auniati Satra a. Barpeta

b. Majuli

2. Madhupur Satra

3. Sundaridiva Satra ¢, Kochbihar

4. Kuruabahi Satra d. Bokakhat

(A) 1-b, 2-¢, 3-n, =

(B) 3-b, 4-d

1-n,

4-b

4-a ¥

3-a,

3-a,

(D) 1-c,

Which of the following Ankiya Nats
was rnot written by medieval saint
Srimanta Sankardev?

J{A) Bhojan Behar
(B) Ram Bijoy

(C) Kaliya Daman
(D) Parijat Haran




i

/' Ma
tch th
7Y ¢ followin i
/’ correct tribe of A:mgr:t.‘]re with the

I. Mibu Gapyg 0. Dj
r < - Dimnan
2. Aronaj < b, mi

. sing

3. Rijnmphinn ‘ Rabh
- Rabhag

4. Kambang - Bodo
(A) 1-d, 2.¢ 3.pb, 4-a y

B) l-c, 2.4, 3-a, 4-b

(€) 1-b, 24, 34, 4—c

(D) 1-c, 2-a, 3-d, 4-b ¥

7/ Fil. up the blank with the
appropriate word from the following :

“Would you mind a cup of tea

with me?”
(A) taking
(B) giving

(C) eating

(D) having

75. Identify which of the following

sentences is correct.
Had I known the fact before, I

(A)
would have taken appropriate
measures.

(B) Have I known the fact before, I

would have taken appropriate
measures.

J/DPW/1/25/4/45-B

(C) Had I knowr SR
waould tnke “[?I?l'ﬁ]’ll’iflfﬂ et
c
' » fact hefore:

(D) Have 1 kncw the f ot

would have  becen

appropriate mecasu res.

t

76,/ Which of the following words cann@®

be formed using the letters of the
word ‘CORPORATION’?

(A) PORT
4B) NATION £
© ‘RATION
(D) ACTION

Which of the following statements
about the Bharatiya Nyaya Sanhita,

2023 is correct?”

77.

(A) It removes sedition as a
criminal offence entirely.
community

(B) It introduces
services as a new form of

punishment.

(C) It abolishes the concept of
cognizable and non-cognizable

offences.

(D) It is applicable only after
presidential assent is given and

not retroactively.

[ P.T.O.




7 %
Mz_‘.ttc_h the following ISRO space
Missions with their objectives :

L. Chandm}'"ﬂn-.} a. First Indian solar
/" observation

/ satellite
2. Aditya L1 b

. Soft landing on
the Moon's South

pole
3. Gaganyaan c. Crewed spaceflight
demonstration
4. NISAR ' d. Earth observation
(with NASA) for climate
change
[A] l—b. 2"'a-’ 3_c, 4-'d
(B) 1-¢, 2-d, 3-a, b 1
(C) 1-a, 2-b, 3=, 4d &
‘IDj’ i-b, 2-a, 3d, 4

With reference to India’s population
and social trends, consider the

following statements :

(i) India’s Total Fertility Rate (TFR)
rose above replacement level in
2023, ~

The proportion of youth (15-24
years) in India’s population is
declining. 2

77’.

(ii)

India’s population surpassed
China’s, according to the UN
2022 estimates.

(iv) The percentage of women in the
Jabour force dropped sharply in
rural India.

Which of the above statements is/

are correct?

(iij

(A) Only (i)

AB)  Only (iii)

, () Only (i), (ii) and (iii)
(D) Only (i), (ii) and (iv)

16

80.

81.

With reference to  the  Natian,
Education Policy (NEP) 2072
following : '

consider the
NIPUN

L

a. Reading proﬁcicnr:g,
gnd numerical
understanding

DIKSHA Digital technology

SARTHAQ

Aadharshila
Select the correct option from the

Play-based tcaming

B oo T

Peer tutoring

following.
(A) 1-b,
(B) 1-a,
(c) 14,
(D) 1-a,

2-d, 3-¢, 4-a
2-b, 3, 4—<
2-b, 3—<, 4-a
2-b, 3¢, 4d

Consider the following statements in
relation to the ‘The Five Hundred’ of
the Chola Kingdom :

(i ‘The Five Hundred’ was a group
of soldiers chosen from the
army and navy.

«The Five Hundred’ was a guild

(i)
of merchants that traded across
the South-East Asia.

(iii) *‘The Five Hundred’ was

operating with no single leader
and no head office.

*‘The Five Hundred’ was
operating with a leader chosen
by the King and head office was
located at Nagapattinam.

(iv)

Which of the above statements is/
are correct?

(A) Only (i)

(B) Only (ii) and (iii)
(C)y (i), (i), (iii) and (iv)
(D) None of the above



e

Conside
¥ the following ;
.‘\Sﬁfﬂion {(\, i
The

[

Gow

1935 poe RN Of Ingin  pct

C : a  Act,
Proposed the CStablishment

of a fi
ederal structure n India

Reason (R) . |

The i

e Act  introduced Provincial

nomy  and diarchy

Centre, S

Select

the . .
orTe 1
follo\ving_ ct opuon from the

(A) ?Bmh (A) and (R) are true and (R)
1s the correct explanation of (A)

(B] Both (A)ang (R) are true but (R) is
not the correct explanation of (A)

(C} (A) is true but (R) is false
(D) Both (A) and (R) are false

,Bi Match the following social reformers
with their contri.Qutions :

1. Jyotirao F’hule“- a. Widow Remarriage
3 s/ Act, 1856

' b. Satyasodhak
Samayj

2. Reja Ram-
mechan Roy

3. Ishwar Chandra c. Abolition of Sati
Vidvasagar b

M. G. Ranade d. Prarthana Samaj

(A) 1-b, 2—, 3-a, 4d
/[é) l-¢, 2-a, 3d, 4b

() 1-d, 2-b, 3—, 4-a

fid.

85< With

Conaider the following ntntements

nbout Subhas Chandrn Dose :

(i) He was Congres?,
President in 1938 and 1939,

clected

(ii) He founded the Forward Bloc in
1939,
(tii) He sot:tght the Axis powcrs’

support to ﬁght the British.

Which of the above statements arc

correct?
(A) Only (i) and (i) *
(B) Only (i) and (iii)

(C) Only (i) and (iii) ©

(D) (i), (ii) and (iii) *

reference to the Swadeshi

Movement, which of the following
statements is incorrect?

(A), It was launched as a reaction to
the Partition of Bengal.

/(;X The movement focused only on
boycotting the British goods

without any other goals.

(C) Leaders like Bal Gangadhar
Tilak and Lala Lajpat Rai
actively participated in the

movement.

(D) It played a crucial role in

strengthening the nationalist

movement in India. <

[ P.T.O.
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6, What will be the correct chrono-

of the following

logical  order

events?

(i) Surat Split

(i) Lucknow Pact -~
(iii) Rowlatt Act -

(iv] Gandhi-Irwin Pact
AT (i)
B)  (-(iii)~(iiiv)
(C) (iiip(i)-{iv)}=(i) ¢

(D) (ii)}-(iv)}-(iii)}—() *

to the Kanai

87/ With reference
Boroshi Bowa Rock Inscriptions,

which of the following statements

is/are correct?
the evolution of

(i) It mirrors
modern form of Assamese
scripts.

It mirrors the King Prithu of
Kamarupa’s triumph over the
invading forces of Bhaktiyar

Khilji.
r¢[1 Both (i) and (ii) are correct”

Both (i) and (ii) are incorrect

(ii)

(B)

(C) (i) is correct but (ii) is incorrect

= =

8:

99.

0

Which of the follerwing, statemers,
infare ,_.-,rrr'ﬁf?
(i) The firnt ruling dynasty .,
Kamarup? ism knren as  the
Varmans.
(i) The varman dynasty  way
[ouﬂdﬂd by Bhaskaravarmans
n the fourth century.

i
Both (i) and (i) are incorrect

(A)

(B) Both (i) and [ii) are correct

(C) (i) is correct but (if) is incorrec:
(D) (i) is incorrect but (i) is corren

Which of the fOIlG_wing Ahom Kings
TECC‘iVCd arn cxl?edlﬁona:}- force from
the East India Company under
Captain Thomas Welsh to suppfﬂa
the Moamoria Rebellion?

(A) Rudra singha &

(B) Gaurinath Singha-

(C) Ja_v,-adhwaj Singha *

(D) Siva Singha &

with regard to Chutiya Kingdom,
which of the following statements
is/are correct?
(ij The First Chutya King
Gaurinarayana was also known
as Ratnadhvajapala.
Gaurinarayana was followed by
Jagatnarayana who was known
as Vikramdhvajapala.

(ii)

44 (i) is correct but (i) is incorrect

(B) (i) is incorrect but (ii) is correct

(C) Both (i) and (ii) are correct

1 mmm avaarTact
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EJ/DPW/1/25/4/45-B

Who nmong ), followiyy,, becnme
renane

o
L M Volunteering py,,, for Rar
i Bt L or her
netive P“'t“‘lpnllnn in Nan
an-

; e the
Cooperation pMovementy

(A) Rohinj Choudhury

() Bidyyy Prabhna Devi

C)  Dhogeswari

{( ) 0RCswari Phulianpnj y

(D) Bhanumaj Talukdar

Which of the following isfare not
North Bani tributary  of  the
Brahmaputyrgp

) Gabhary /

(i} Belsiri

(iii) Dhaleswari

(ivi Gangadhar

Choose the correct option.

(A) Only (i
(B) Only (i)
(C}) Only (i) and (ii)

Only (ii) and (iv)

»)

Consider the following :

(i) Tropical semi-evergreen forests,

(i) Tropical moist deciduous /
forests

(ilij Sub-tropical broadleaf  hill
forests /

(iv) Sub-tropical pine forests

19

94,

How many of the abave are
characteristics of forests found in
Ansam?

(A) Only (i) and (ii)

(B) Only (ii) and (iii)

J€) Only (i), (ii) and (iii)

(D) (i), (i), (iii) and (iv)

Match the following glacial deposits
with their locations in India :

a. Zanskar Valley

Zemu
Kinnaur b. Sutlej River
Diamictite Basin

Garhwal Tillite c¢. Gangotri Glacier

Drang-Drung d. Sikkim
(A) 1-a, 2-b, 3—, 4d
(B) 1-d, 2-b, 3-¢, 4-a
(C}) 1—, 2-a, 3-b, 4—d
(D) 1-b, 2-d, 3-a, 4

[ P.T.O.
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« W o ! f
hie ), of Whie folleswing a7, Witk re¥h

ot corrpeqs Hitemonics;(n Conneils of Asenm, nisiiey g
B The AR
lomen’s Pﬂ’i'}!‘ﬂl”n" FH1 .
whn Panned by beathy thpe Heunes husartion A * : . ]
of the Parliarment jg, yous /7 Autnnernad® Councils nire sl
o tritea]l  adrninistestyy,
(D) The. Flecting prroerning

f;f;f”r”jz:e””” of -,-,ri'[h l":.‘»’,ff:-ia!:-.f':, o LT PR BTN

Inetjg in o Lanstitutiong] Ledy hedics 'udf"i"l [P uridle,
Ynder the T3 and ] ’
JZ h f‘bl""l',]": S4A, ”" ,,j,!h o birriigle oif the
i L4 RS
J e Coentral Vigilunce Cornmni- Cormntitutiorn-

i Ul Cressy based ll}' the

Conntitution T i b
nder Article 148, Pesson () ¢

(1) GovernGr  of  Assam s

The NITI Anyop o

policy think The
tank  and

; 1 th
BUCCennor  teg the muthorized Yo talke  ouer -
F’Ianning (_:r;mmis;.uirm_ s funetioning oif Autonornous
Councils, if holding of election
A . i y b drnpraetiesz).
}6'/ Mateh the fr.a”owmg Schedules of the in found W 4

Consutitution of India with their

contents : VWhich of the following is correct in

rreD
~ 1. 8th Schedule 4, Anti-defection Law respect of the above:
L~
<
2. 10th Schedul ' i
o chedule " b :_“.llo«:a-t:rm'of aeats (A) Both (A) and (R} are correct
& / In Rajya Sabha - ) .
" z and (R) is the correct explanation
4 2. 4th Schedule ¢, Languages recog- of (A)
Py nized by the
= Constitution
= L (B) Both (A) and (R) are correct but
4. 12th Schedule -:!. MUf’lIClpalltms and (R) is not the correct explana-
their powers ;
tion of (A)
(A) 1-b, 2-a, 3-c, 4-d
(C) (A) is correct but (R} is not
/éB] 1-¢, 2-a, 3-b, 4-d ~ correct
(C) 1-a, 2-b, 3—d, 4-¢ ¥
(D) (A) is not correct but (R) is
(D) 1-b, 2-d, 3-a, 4-c * correct
EJ/DPW/1/25/4/45-B 20




Consider .
ALY lex the tollowing

99.

"Matementa ¢
() The firg, meeting

of the asub-
COMmitten

on f"-’l‘ldn.nm::ntEll

humgy, ook biace in

1950,

rights

(i) Hansg Mchta was 2 member
of  the sub-commitiee  op
m"dﬁmcntal human rights,

Which of
correct?

the above

is/are

(A) Both (i) and (ii) are carrect

(B)] Both (i) and (ii) are not correct

(€) () is correct but (ii) is not
correct

(D) (i) is not correct but (ii) is
correct

Consider the following statements :

() A national emergency needs a
special majority for parliamen-
tary approval, W

(i) During a national emergency
the State and

legislature continue to function. J_

executive

(i) A national €mergency can last
up to three years.

1

g Are
Which of the above ntatement

correct?
(A) Only (i) and (ii)
(B) Only (ii) and (iii)
(C) (i), (ii) and (iii)

JP) Only (i) and (iii)

. Which of the following pairs of

Newspapers/Magazines and their

Editors is/are correct?

(i  Assam News—
Gunabhiram Baruah

(ii) Assam Bandhu—Hemchandra

Baruah

(iii) Jonaki—Chandra

Kumar Agarwala

Choose the correct option.
(A) Only (i) and (i) N
(B) Only (i) and (i) -

R) only Gii)

(D) Only (i) &

[ P.T.O.



